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F - Fansblog
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#include<bits/stdc++.h>

#define ALL(x) (x).begin(), (x).end()
#define 11 long long

#define ull unsigned long long

#define pii pair<int,int>

#define mp_make pair

#define pb push back

#define fi first

#define se second

#define TIMES 30

#define rep(i,a,b) for(int i=(a);i<=(b);i++)
#define per(i,a,b) for(int i=(a);i>=(b);i--)
#define showl(a) cout<<#a<<" = "<<a<<endl
#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl
using namespace std;

const 1l INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 2e5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);
1l gecd(1l a,1l b b==07a:gcd(b,a%b) ;

1l gmul(ll a,1ll b,1l M) {a%=M;b%=M; 11

s=0; b b&1l)s=(s+a)%M;a=(a+a)%M; b>>=1; S;

1l gpow(ll a,ll b,1l M) {a%=M;;1ll
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s=1; b b&1)s=gmul(s,a,M);a=gmul(a,a,M);b>>=1; S;
11 Rand

static 11 x=(srand((int)time , rand .

X+= ;

x> X-= ;
X;

bool Witness(1ll a,1ll n

11 u=n-1,t=0;
u%2==0)t++,u>>=1;
1l x=gpow(a,u,n);
X== false;
int i=1; i<=t; i++,x=gmul(x,x,n
x!1=n-1&8Ex"1=1&&qmul (X, X, Nn)== true;
x!=1;

bool Miller Rabin(ll n

n== true;
n<2||!(n& false;
int i=1; i<=TIMES; i++
Witness(Rand()%(n-1)+1,n false;
true;
int main
fastiol();
int ;
cin>> ; ; --
11 P; cin>>P;
11 Q = P-1;

Miller Rabin(Q
Q--;
1l ans = P-1;

11 i=Q+1;i<=P-1;i++

ans = gmul(ans,qpow(i,P-2,P),P);

cout<<ans<<endl;
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G - Find the answer
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#pragma GCC optimize(2)

#pragma GCC optimize(3,"Ofast","inline")
#include<bits/stdc++.h>

#define 11 long long

#define pb push back

using namespace std;

const int N=2e5+5;

1L wiN!,num[N]|;

11l read

11l x=0,f=1;char c=getchar();

c<'0'|]|c>'9’ c=="'-"')f=-1;c=getchar();
c>="'0"'&8C<="9") {x=x*10+c-"'0"';c=getchar();
x*f;

struct Node{int 1,r;1ll sz,sum; t[N*4];
void build(int idx,int 1,int r

tlidx].l=1,t[idx].r=r,t[idx].sz=t[idx].sum=0;
l==r ;

int mid=(l+r)>>1;

build(idx<<1,1,mid),build(idx<<1|1,mid+1,r);

void ins(int idx,int x

tlidx].l==t]idx].r){tlidx].sz++,t[idx].sum+=num|x];
int mid=(t[idx].l+t[idx].r)>>1;

x<=mid)ins(idx<<l,x); ins(idx<<1|1,x);
tlidx].sz=t[idx<<l].sz+t[idx<<1|1].sz;
tlidx].sum=t[idx<<l].sum+t[idx<<1]|1].sum;

int que(int idx, 1l x

X<=0 0;
tlidx].l==t[idx].r x/num[t[idx].l]+(x%snum[t[idx].l]>0);
tlidx<<1|1].sum>=x que(idx<<1l|1,x);

t[idx<<1l|1].sz+que(idx<<l,x-t[idx<<1|1].sum);
int main

int g=read();
q__
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int n,tot=0;
11 m,sum=0;
n=read(),m=read();

int i=1;i<=n;i++)w/il=read(),num/++tot|=wli];
sort(num+1,num+1l+tot);
tot=unique(num+1,num+l+tot)-num-1;
build(1,1,tot);

int i=1;i<=n;i++

sum+=w|i];

printf("%sd ",que(l,sum-m));

int x=lower bound(num+1,num+Il+tot,w[il)-num;
ins(1,x);

puts nn ;

0;

H - Game

0000000000000 0000 $aia{i+1}$000O00 $LRI$OODOOODOOOOOODO

0000000000000 000D00000DO0oswapO OO $prefil$j0000OD0O0OODOOOO
g

#include<bits/stdc++.h>

#define 11 long long

#define pb push back

using namespace std;

const int N=1le5+5;

const int M=2e7+10;

int n,m,swp[N]|,bloc,a/N|,pre[N],qcnt,ment,inq/N!,1,r;
1l res|/N|,num M|, ans;

11l read

11 x=0,f=1;char c=getchar();

c<'0'||c>'9" =='-"')f=-1;c=getchar();
c>="'0"'&8C<="9" ) {x=x*10+c-'0"';c=getchar();
x*f;

struct Node

int 1,r,now,id;

Node(int 1=0,int r=0,int now=0,int id=0):1(1),r(r),now(now),id(id
qiNl;
bool cmp(Node x,Node y
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x.l-1)/bloc==(y.l-1)/bloc
x.r-1)/bloc==(y.r-1)/bloc
X.r-1)/bloc&l)?x.now<y.now:X.nNow>y.now;
X.r<y.r;
x.l<y.l;

void exchange(int x

swap(al/x|,alx+ c
x>=1-1&8&x<=r

ans-=num|pre( x| | *(num|[prel[x]||-1)/2;
num|[prelx||--;
ans+=num/pre|[x| | *(num/pre|(x||-1)/2;

pre x| "=a/x|"alx+1];
x>=1-1&8x<=r

ans-=num|pre[x||*(num/pre(x]|1-1)/2;
num/pre| x| |++;
ans+=num|pre|x]| | *(num[pre[x]||-1)/2;

void work(int x

int f=1;
ingl[x]|)f=-1;
x==1
ans-=num/pre|x- *(num|[pre|x- -1)/2;
num pre|x- +=f;
ans+=num/pre|x- *(num|prelx- -1)/2;
X==r
ans-=num/pre(x| [ *(num/ preix!|-1)/2;
num|[pre| x| |+=f;
ans+=num/pre(x| [ *(num/prelx!|-1)/2;
inglx|”=1;
int main

clock t startl=clock(),endl;
~scanf ("%d%d" ,&n,&m

gcnt=mcnt=ans=0,bloc=pow(n,0.6666666666)+1;
int i=1;i<=n;i++)alil=read(),prelil=preli-11"alil;
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int i=1;i<=m;i++

int op=read();
Op::

int l=read(),r=read();
++qcnt;
g/ qcnt!=Node(l,r,mcnt,qcnt);

swp|++mcnt|=read();
sort(qg+l,qg+l+qcnt,cmp);

1=1, r=0;
int i=1;i<=qcnt;i++

int j=qli-1].now+l;j<=qli].now;j++)exchange(swpl(j]);
int j=qli-1].now;j>qli].now;j--)exchange(swplj]);
1>qli].1)--1,work(l);
r<ql!il.r)++r,work(r);
l<qli].l)work(l), 1++;
r>qlil.r)work(r),r--;

1l len=qli].r-qli].1+1;
res/q/i].id|=1len*(len-1)/2+len-ans;

int i=1;i<=qcnt;i++)printf("slld\n",res[i]);
l<=r)work(l), 1++;

0;

K - Squrirrel

gboboooboodobbooobboobobooobbuooobooon

000000 $vtext{dp}$ 000000 $u$ 0000000 O0DODOOOOODOOOODODOOO
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#include<bits/stdc++.h>

#define MEM(x) memset((x),0,sizeof(x))
#define ALL(x) (x).begin(), (x).end()
#define 11 long long

#define ull unsigned long long
#define pii pair<int,int>

#define mp_ make pair

#define pb push back

#define fi first
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#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)

#define per(i,a,b) for(int i=(a);i>=(b);i--)

#define showl(a) cout<<#a<<" = "<<a<<endl

#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" =

using namespace std;
const 1l INF = 1LL<<60;
const int inf = 1<<30;
const int maxn = 2e5+5;
inline void fastio

int n,head maxn], tot;

int

idxlimaxn],idx2[maxn],idx3[maxn], filmaxn][2
nl[2],dlmaxn];

struct edge

, S€Mmaxn

int u,v,w,nxt;
es|[maxn<<l];
void addedge(int u,int v,int w

es ++tot| = (edge
head|u] = tot;

u,v,w,headlul};

void dfsl(int u,int f

int i=head|u];~i;i=es[i].nxt
int v =-es/i]l.v,w = es[i].w;
v==Tf ;
dfsl(v,u);
divl = w;
filv![0] + w > filul[0O
th[u][0] = sel[u][0];
idx3[u] = idx2[ul;
se[u][0] = fi[u]l[0];
idx2[u] = idx1l[ul;
filul[O0] = fi[v][0] + w;
idx1liul = v;
filvl 0] + w > selul [0
th{u][0] = se[u][0];
idx3[u] = idx2[ul;
seful[0] = fi[v][0] + w;
idx2(ul = v;
filv! (0] + w > thlul[0
thiul [0] = fi[v][0] + w;
idx3[ul = v;
filulll] = min(fi[idx1/[u 0], max(fi[idx1[u 1
dlidx1u :
sefulll] = min(fi[idx2/[u 01, max(filidx2/[u 1

"<<pb<<endl

ios::sync with stdio(false);cin.tie(0);cout.tie(0);

21,thimaxn]l[2], falmax

,selidx1(u 0 +

,selidx2/[u 0 +
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void dfs2(int u,int f

int i=head|u];~i;i=es[i].nxt
int v = es[i].v,w = es[i].w;

==f o
idx1liul==
falv = max(falu ,selu + W;
falv = min(max(falu ,selu ,
min(max(falu ,selu , max(falu ,max(selu ,thlu + W)
falv = max(falu ,filu + W;
idx2[ul==
falv = min(max(falu ,filu ,
min(max(falu ,filu , max(falu ,max(filu ,thlu + W)
falv = min(max(falu ,filu ,
min(max(falu ,filu , max(falu ,max(filu ,selu + W),
dfs2(v,u);
int main
fastiol();
int _,u,v,w;
cin>> ; ; --
tot=0;
cin>>n;

MEM(fi);MEM(se);MEM(th);MEM(fa);
memset (head, -1,sizeof(head) ) ;
rep(i,1,n-
cin>>u>>v>>w;
addedge(u,v,w);
addedge(v,u,w) ;

dfsl(1,0);
dfs2(1,0);
int ans = inf,id;
rep(i,1,n
int res =
min(max(fali ,fild ,max(fali ymax (fili ,selil ;
res<ans) ans=res,id=i;

cout<<id<<" "<<ans<<endl;
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